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TOPIC I: THENATURE OF OPERATION

1. INPUTS, OUTPUTS AND THE TRANSFORMA 1 iOiv YROCESS

Definition | Operations Management It is concemned with using factors of ifgﬂf:l-c};én produce

goods and services [t deals with various departments efficiency. quality

The Production Process / The Transformation Process _ o
Definition. An activity (process) or group of activities that takes inputs Land, Labor and Capital |

and converts them into ts which consist of goods and services_

ds and
Inputs (Land. Labor, - Outputs tho }
Capital, Enterprise) ' - | Production Process Services)

Resources
, These are Land, Labor and Capital. All of them !&re discussed in Section 1 except Intellectual
Capital 2k
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' Intellectual Capital

Definition ! Intellectual Capital: Intellectual SABIFARIS:

value of a company exceeds its tangible as f‘ dvsical and financial) In other words it is the
path feWiddeas and Lo find solutions to problems

ngaThis is due to the collecu?u?ﬁowledge

and be creative in sectors like advertising}
uttural capital and relations capital |

and skatts of @ company. This includes Aat
e l\:\w,.ﬁlﬂl 1,\.(_ 1,1-\-..3, “‘43 Cara_ )
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Definition | Effectiveness It is the an opcrau%s to achieve its set objectives and

2. EFFECTIVENESS, EFFICIENCY AND PRODUCTIVITY
meet customers’ needs in a profita] er.
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Definition | Productivity: It describes how efficiently are inputs converted into outputs It is the
measure of efficiency. This can be calculated in two ways, Labor productivity and Capital '
Productlw_u:.- Labor productivity can be enhanced by employing few but skilled labor and capital
pmdbucnv:ry can be enhanced by deploying technologically advanced machinery. Productivity
can be | ing [ i . ’
oy calculated using the following formulas: & H‘-G\r.u Ve pedune
- ~ Yha e -
Pt - Total Outpue Aoty wertae (o 4y
O Arewy \uremar oy (acess t.) Labor Productivity = - - 3 .
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< N, Geakie, Capital Productivity = —T2tal Outpue
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/ How can productivity be increased?

[
£} f:l'ilhﬂd o on o) Description ekt u b st =1
bl | . - Lr'e = = . i b o
¥y : ncrease numbers | When workers will work more hours they will produce move which will >
— ! nw
;:‘HQ 2‘ ;1_0"'["‘_ ""”":“:‘] - _:;%::f output however workers might get tired 1f the hours are t;n lon |
rainin CE VYA , : L ‘ i
i P\r\h g p en workers have new skills they produce more in less time ang cause
g - e less wastage ‘att } B Y B T \.t\g_t-r sy 177 bar ehiag
3. Inv —_— : , RIS (e
n estment “T“h ) Machines allow ':'.t_:rkers to work faster and reduce wastage which will 1 = '
equipment and = “" "ingprrgvc productivity £285 i) imasernyes Whe seuind et < mauth—y fuqer [y by
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Cnd va Ve . Change the wa Here compani ify ' : |
Den the worE Lo Y s panies mﬁd'fé.ﬁe Erodur.tmn process. Example from assembly |
/ e _ e ines 10 project teams. — - R N T I e |
t isi - : e
v, h Ic ivating This is done through financial and non-financial rewards Motivated |
o, " eLmP oyees employees work better are more producti\‘e'. S e it s of O el bhg Wndrae |
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3. VALUE ADDED
Definition: Creating value is selling the productggg 2 higher price than it was initially bought in
nes of the finished good and cost of bought in |

Added value is the difference between selling poeg

materials The concept of value added in linkédk E"ﬁ ed to marketing, the operations process .
and operations decisions in the following way e o '
[ Marketing: The impact of promotional s o
product. -
2. Operations Process. The efficiency wif
managed. Example: Reduction in wasta
3. Operations Decision: An attractive di
4. CAPITAL VERSUS LABOR INTENSITY
While deciding what combination offTESAGT ces to be USGEAN

of two approaches. The decision depend: 5% nduct, the relative prices of the
imports and the size of the firm to afford aganicqlar method.
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efinition | 6’1? i ﬁ'fﬁgﬁg&%‘im% Lap! Mmpmdw —_ !
labgr. This method i

more appropriate for industries that choose batch or flow product where the :
goods need to be produce :

convince consumers t0 pay more for the
Jt resources are combined and

e addition.
v can justify high prices by the firm

can adopt one Or a combination

2

d in bulk and there is some sort of standardization.

Advantages Disadvantages
T Due to large scale production the company | 1. There — theretore usually a higher break-
: due to high fixed costs.

can achieve conomies of scale which can even output

th r unit cost. . .
reduce the pe 2. Machinery may become obsolete which will

2. Thereis generally a better consistency than increase the replacement cOsts.
. better consistent
mmual iabor‘ ’T.L\"I._ be e .l-‘_ ' W St lee .JJ
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1 orce since it might
3. Resistance from labor force sIn¢ g

create redunduncin:s. y e A
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- Definition | Labor Intensive. This involves employing more quantity of lsbor 2s compares S &5F
capital. This method is more appropriate for industnes that CFDOE:;E.!J production fike hand TS
made goods and unique products o
Advantages | Disadvantages b 1
1. There is generally better quality ifitisnota | | Production is not fast enough 2s comza-es
fast process . <~ swata) §% o woe.f to machinery
e I N N LT e ! Wi
R N o ) y

2. Businesses can benefit from premium
pricing f'or'hand craﬁcd' goods. verians Ve

abonal £33,

3. Labor costs can be lou erif husmesse: hsrc

A e,

2. Lack of standardization because the
.»}.accuracy and quaiity of work from person i
| person can vary which leads 1o decline 1n

| productivity
on temporary contracts. Individuals will not | ) —_
need to operate specialized machinery. ]
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TOPIC 2: OPERATIONS PLANNING

1. OPERATIONS DECINIONS
The following THREE factors influence the operations decisions

1. Marketing - They provide the detail on the future demand levels This helps the operations
department adjust their resources according to the demand. This is known as operations
planning. This helps reduce costs, reduce wastage and prevents over or underproduction

2. Resources - The resources (Land, Labor and Capital will shape the operations decisions). As

the business, would want to locate where there is abundant land, good labor available and deicide
between labor and capital based on the cost

t\eﬁ—v.l O & WM ‘l!_l.-e_\- v\\j

3. Technology - It can influence the decision making in the following ways
Q¥ Definticn C:

Definition | CAD (Computer Aided Design): This is the use of computer software to design items
being designed more quickly and with precision

s is is used to design new products and re-style
existing products Example AuteCAD. Q
Adv amaaes
L Lower development COSts v “‘f:‘j}“
2 l"npro\ed product qualityts ¥r s

Diqadvamaaes

|
BN o \'dre d‘ "‘\"3 { Voo NeuAmay A e
Accuracy and good visualization -7 8 =ENpensive computers and rendering
(L, o L bl: ymad = Ul wmad | = L18
L\-\.-...%q_\ Com  ®arv,ia Wy wadl wwt) -

ca.js Definition | CAM (Computer Aided Ma u
pro:}ucuon process and control ma-.:hl

. 1
s the use of computers to monitor the
Actory floor. Example: Robots

elps in the process of automation.

C.-\D and_CA.\l combined are known prated manufa-:turi ng)

Advantages

- ————r

1. Cost mms all and rnamt:un are high ™~/ <~ i i

j\-\m peiy o

\
|
|

s Deotiion 1 LEssayType )

2. FLEXIBILITY AND INNOVATION

Definition | Flexibility This the ability of a business to adjust its level of production and modify

its products with the changing customer demand. This can be done by 3dl_§l_“3 v olumc, delivery_
“time e and product/service speuﬁcauons labor force etc.

I
- |
R N r-—) LANY Senal ;_,\s_rL
{‘.\.._a“_j_\‘,_

|

o
C camw-n e vt A e fad )

Definition | Product Innovation. Thisis dev elogmb_ne“ products These can be an updated
version of an old preduct or a Lomplclcl_\ new product
T e - e

wn kL .--v-‘-\ W (relies 1"-...1 Ll
Definition | Process Innovation: This is regarded as changing current processes.or adopting new
ways ¢ of ploducmu products (e g automaton/ mbn!n.s‘) or delivenng services (e g, nmpm\wt.

workflow Example Amazon using octocopters to deliver its goods
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3. OPERATIONS METHODS _
These are ways different goods and servl

methods:

ces can be produced. They are classified into EOUR

H . clLi. ‘\
1. Job Production Quagh -« o~ b B :
i e ) ettt =7 fuana’c PN g
2 Batch Production M Yoy — P b J
3. Flow Production :
4. Mass Customization _
Ly Yeae e —ahiy b N

1. Job Production WY ' ) o made The
Definition: This is a production method in which ynique, non~5tandard1zr:1d Oi‘ilscasuils
praducts are one-off specifically designed for the customer. Example Tailor m :
handmade cars etc.

Advantages l
1. Able to undertake specialist projects or jobs
with hinll:_added value, hooke ‘:Lf:::_;‘: P
~< | 2 Highlevelsof worker motivation due to
A - tasks being carried out require variety of skill 5

Disadvantages _ ii
1. Labor cost would be high due to Iabom |

skilled leading to higher wages. |

—

.::l . . |
» The process is time consuming. Example the |

struction of house for which the cost won't |
tecovered until it 1s sold.

LI
o
=
=
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2.
E
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e range of tools and equipment due a \

$hof jobs which can prove to be q
Ve @P&tru:{_l "F“*' Lo Lo fead "3{-‘..:- .

one job is handled at a time itis easier to
coordinate and communicate. euesse
& S Vo mepelosrheled

T T PN e N L o s
Wbt aesvy e e Rt N s wd b
whieh i, eroup of identical products pass

{SGHIED items move from one stage of

2. Batch Production
whit tte  Definition It is a technique used in
W B 7= (hrouph 3k stage of the productiop;
IS otk production to the another, Examplebe

Bns of ditferent colors etc.

Flaw predeefio~ | Advanta ‘ sadvanlmggs ‘ ]
Comnsb —swe [ 1. Large quanghis apEipyoe ry gt bated by doing
e 4 EOQS. w0 3¢ ) : ; ,m‘ oy By ¢ W) '\.'H-H“:,_ht_.-\l}_
S gl Lot Baen Mo oun oo Lesma TR LARL B ST

2. Flexibility in design. Each batch can be
changed to meet customer’s needs.
Lty Vo r Wesktishen)
3. Employees can concentrate on one operation | 3. Can lead to production delays since the
leading to lower costs due to less need for goods cannot be dispatched until the whole l

L8
t"")\l.ti e dooeg ey ) i e Sy B
2. Complex machinery Yequired feading tohigh 1)
fixed capital costs leading to lower profits.

skilled labor batch is finished.
® Resein produadon fCapdred Praducive ha wtioeag

ot gt ap AL e (IR e ‘a"*‘"- A bipne

CxQire) -

3. Flow Production
Definition_ It is a production method where items are made in a continuously moving process. In
flow, la:%f standardized products are progiuced and used in case of items that are
high in demand odteHon Tan move from stage to stage as soon as they are ready, withouty

having to wait for other products. Example: Oil refining, water purification, production of coca
cola etc. o
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Advantages

| Large quantities are produced which allow
i EOS. U-’l'-.'%\u- AL S LS

2. Due to continuous working of machines it

leads to lew labor costs Mawv 4 Ve pedudine
VATEAA L, WL et waly o =

3. Less stock pile of goods since the demand is

Disadvantages |
1. Setup cots are high. The company needs
_huge investments to fund its operations KA Walte Py mew
b2 Pyt
2. Product igstandardized which makes it

difficult to meet diff erent customer’s needs,
'_:-?(E\ Ll ol Depegsy (L) BEPrtiming why foo W wan

R o

product the sagiguit Wik 1 i #E | A
1L‘ L o H W j'
@'iu, erakSOst and great@rprod(r thpjce! AT

S

3. Breakdowns can prove to be costly. Even if |
one part breaks down the whole production
system stops,

usually high. CAeeay W vy Swe m Lo W
Shedale A .3

@M4~ [N Ty g 1 focha Ty o T ‘L\-n L L
PR TR S o -

i m“;l.w':
4, Mass Customization I

D_eﬂij,i_g_rl; This is producing product on a large scale with the flexibility to produce a number of
different models. The company keeps a bﬂ_prﬂq_c_l.:_iﬂaui_)\ig the customers to change a few
key components tG customize it to his/her own needs. This is usually done through flexibility in”

technology and using a multi skilled labor forces xample: Apple mass customizes its
MacBook's There is a standard version on whigh's

RAM, flash storage etc. based on their own --'95]‘.0*
! Advantages

1. Large quantities are produced which allag

EOS. toran tovme Ml iy Prtedinn ) &

Disadvantages

€he layover time is one of the biggest

ms of Mass Customizatign. Since 1115 a
yproduct it will take longer to reach the

price and satisfy a wide variety of cu
needs.

. satisfied because it was created
3. Since the manufacture is just ch&Rg v

key components but keeps the rest of the

¢

1R HOR training

maintained, |

|
vElae lir -....,,.% TR Lembbvmery  becegge Y Cem Aol
!f.:._ﬁ.hf'lﬂ W e AL lpadory s fyn Velowhng Yo Meene &
e ooy the Bumtg %L\. g I L BT
Problems of changi rom one method to another
Nature Description
1. Job to Batch 1) Cost incurred by the firm to handle large numbers of goods in batch
production.

i1) The company needs spend money on hiring and training employees so
that they become familiar with handling batch equipment.

iii) Batch production sometimes causes demotivation in employees since
the machines would be performing most of the task whereas the employees

would only be of a supervisory nature. This results in less emphasis on the
craft skills.
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[ Capital requirements in flow are much greater than Job or atch H_n!g_ S A
2. Job or Batch to | results in more fixed and working capital needed to finance the shift, Thig ~§
Flow

move can result in a cash flow problem for the firm

i} The company needs to spend money on hiring and training employees ‘
50 that they become familiar with handling flow equipment.

I
Coht Wy L-‘. LOCATION (_\:’ do Moy e,

R, 1 - . . . ¥
W A Definition: Selecting the right location to se
success of it. There are several advant

15 the one that has best combinati

|

t up a business can really influence the overall

ages of setting up on the optimal location. Optimal location
on of quantitative and qualitative factors:

1. Lower costs: This will help the business achieve a quicker breakeven and increase return to
¥ shareholders.
o‘a""m 2. More customers: This allows the business (o be closer to the customers which in return
LA increases sales.

3. Avoid trade barriers: This all

- ows the pusineslo avoid trade barriers which create a problem
X 7| in trade.
QD:.; e 4. Improve Brand name: Businesses that locat.' expensive area may create a premium brand

image. W\mreliooy oobpdhiequ B PN T .f Iy Ml.'-emS\ Nt lA Trean c.LUJ.b e o pwnl.
= - ) s . h . ) o -
@ T AN ALy ‘L'ﬁ@'jl .%1"\ RN S 'f}“qun.\w_}
. A , M i - . .
i The factors 1o determine location can be ditde WO categories: @ H“‘*ﬁ:\l e Rk Losxiv s
o o I. Quantitative factors Covmeai) o ; .
4-"-.'- .

ot
R,
2. Qualitative factors Cogaie beyoy y d :

Lo e a kiveo ‘-M‘-!u'kh-»\-j Pm%
1. Quantitative factors ;
Definition: These factors can be mea; ]
revenues, 0
Factor® "7 ¢ 2" 07 | Description
1. Site and capital costs | The firm must look into the cost of purcl
i i, | Esan 3l '

AT e T
L AL el R, o L T R
‘5‘ T e S P U

Viay '.'g‘.:’_J;}':,',. N

ing and buil.t;jing asite. The |
TEL ',.‘ g{%%ue that site |

petitive rate, particularly in the

148
itfiing mi e AR

2. Labor Cost

Availability of skilled labor at a com
case of labor-intensive industries.
If the plants are located far away from the factory it would increase the

transport cost. Hence the company should prefer to locate near the
source of raw material,

3. Transportation Cost

4, Sales Revenue

The level of sales can be influenced by the location For luxury brands
Potential

like Gucci the location should be in expensive areas since they can add

status and image 1o the product which can increase the value in the

eyes of the stakeholders. Furthermore, for convenience stores being

close to the customers might be the key factor in success

Areus of the country which are not developed or areas where

.LS'&“(“M& government wants (o attract investm.cnts i._l offers tax h.:)lidggrrsi interest
Supovet free loans etc. This can help the business increase profitability.

=

5. Government Grants
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* Note. Along wi
. 8 with the quantitagjy

f; TH_REh_lqc_h_m_ques iy c fac&ors_'havc been iden
1. Profit Estimatec e oot 2ogisions
/ et -Stimates: The area with th pre

ne don't tel| anything They mus f buyi
o h‘L R e S B s of buying angd developing
- invesiment ﬁ'xppransal s: These are financial techp th
vanous capital investmens Techniques like

best option. Lower the payb _EE}'.'_E‘CI'Z, l_»ER_R and NPV can

ack the better, and higher an assist in choosing the
should always be noted Tf‘l_ht;re"—igmi?l}l;&h“ S ARR am NP i

ARR a ¢ better However, it
date these results might be .

“’Tﬂng
3. Break-even Analysi )
. ysis: This tells th i
site for the revenu ¢ business w

costs and revenue

tified above the business can use

]

Iques that help a business choose between

hat level of production

- must be sold for each

5 mio lTual lI;)ta] costs. l:Ex_\f_e_r_tI]g break even the better the location However
ght not be accurate which lead 1o misleading decisions I

@ T Ve, 2+ Qualitative factors

H wamgerar..  Definition: These are non

r_ 4 I - 'i" )
(B ===

-measureable factors t

- hﬁl might influence a busi isi ' iy o
M ey o, Bactor T Description - - o T abusiness decision = Nmaieri,
Bni g eyl 1. Sﬂfety T - : el el
S R . usmn:ss might locate outside the city if it Lm_ Pee qoulb
Ve oreey [ 2] . BTN > A up
. Infra - o — — : {
Ve Ay structure The quality of trangp ’1;‘“ dvertising, communication etc links
Lo N : influence the decisiohf§ @ian
v Lod se % E'thlcs and The business al :ﬁ‘?f-»f'ir{ -'-'-_;fb'l iXects of stakeholders and environment '
Fren 3 nvironmental factors Example:_ The ghmpany mighffcate it areas with high unemployment ;
eoner bo to act ethical | y2ksirg s ompany might also locate it areas
4 e fHL which have 83 B¥pid pollution. |
- ' ) B e T s T T S PP Py
- - /
Advantages and Disadvantages of:15¢ Lan vy 0o hoin.,
Advantages = Disadvantages Sl _
1. Expand Market 1. Language and other communication barriers. ;
2. Reduction igiBostg = ra i frer et :

3. To avoid 1

¢ “‘L&ﬁ . 5. SCALE OF OPERATION L3230 ~nky rb‘f “c'lu?‘-"‘* L.,.‘-?-.,.j ’
s_ﬁd}"" Definition: It is the maximum oulpgl lha? can be achieved using lhe_available resources. More
2=V Y the resources the greater the potential to increase the scale of operations.
)_UISI Y Factors that influence the scale of a business

A D —
.t =~ | Factor escription :
"""v-.-“" 1. Owner's Objective If the aim is to growth then scale of operation would expand.
= 2. Capital Available More the capital larger the scale of operations .
3' Size of the market Larger the size of the market, greater the scale of operations
_ i f Scale Higher the EQS, larger the production : R |
S:lfni?nogff 0.#" oy ulAnt\ B g s fele fved AlLvat Lty & \.\_\ tesred ) Lt Lo
2%, yrplen LN p"-~..al
1. Economies of Scale ' o
' Definition: These are factors that reduce the average cost as the business grows in s1z¢ %ﬂ By
increasing the scale of production average cost per unit decreases, There are two lypes 0
economies of scale ‘
5 o |
- - BUSINESS (9609) | 03041 122845 |
ﬂlﬁq’vhﬁ'ﬂl{ TASNEEM | AS/A LEVEL
LAY
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i) Internal Economies of Scale
ii) External Economies of Scale

i) Internal Economies of Scale
Definition. These are reduction in average cost that

Type S

Tise from within the busi.ness‘.

T El

D pHioR R S

ulk which encourages

1. Purchasing A large firm requires raw matenal in _ -
}F_:,,\, e suppliers to offer discounts. This reduces the unit cost of each ite J
T a-ETl D Marketing The cost of advertising and distribution rises at a lower rather than
s e = ' N increase in output and sales. Furthermore, a large business can afford
L e to purchase its own vehicles and does not depend on other firms.
W e -
esv @1 y 3. Financial Large business raise finance at a lower cost of borrowing. Banks are
" ":'4 '::. willing to give more capital at a lower interest rate and investors
- o ol . = . .
t‘- invest at a cheaper rate. Ttﬂ} is because a large business is less risky J
[C"W“" 5
;_F.A-u -

_ﬁ'f_-i. Managenal
1 b"-"‘é.‘,q”"hd

due to low chances of failtlf |
Large business hire spe,- '

. Technical Large business can d ist machinery and effective |
Y s’ D b manufacturing meth g broduction These machines ]
< generate high outp, er quality. |
" 6. Risk-Bearing These occur wheds o produce a wide range of |
K> 2 “—ﬁﬁ,&‘:’fﬁ ™ products and opgl itiths. The diversity spreads the |
A ey s risk. If one prodigst fiECompany can compensate form !
v"iﬁn"'f‘" 7 the others. ExdmplerU “multiple products in in portfolio. |
A N inl s . - i *
W 7-Researchand - | Large firms ciifgspihd several miligliiog dollars in product 4
Development innovation and create products that give them a com petitive i
5_glamggimasio
@u b B A\ ."r.
ii) External Economies
Definition: External economies of scale occur based on larger changes outside of the firm.
External economies of scale are generally described as having an effect on the whole industry.
Typelnwiidamiidis Description L5 2 g e e R o e T =
1. Ancillary , An expanding industry is often assisted by other supporting industries that |
Services provide ancillary services such as maintaining an uninterrupted supply of
. raw material. Example: Leather for footwear industry.
_ ;_,f.‘f,_f’wailabllny of Industries are usually concentrated in areas where there is skilled labor.
11 Skilled Lapor Example: Sialkot in Pakistan for sports goods.
-‘\ .2} Reputat‘lon of This provides the firm with exposure and publicity. Example: Silicon
L cographical Area | Valley in California for IT firms.
4. E . ' « .
= Scigcess to Industries In tertiary sector offer commercial services like insurance,
[ ices transportation, advertising to the industries.
e’ P
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2. Diseconomies of Scale
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Definition. Fhese are factors w2 increase the average cost as the business grows beyond a certain
size OR By increasing the scale of production average cost per unit increases. '
’_Type' Grailz2ay AL st o tn Dcsc[-ipﬁun e Y Tr T : ;.' --'_;_. 32 T : ) 1 - _l
I. Poor In large business sending and receiving messages becomes a problem |
Communicati i tn omi ici ‘
ion This results in mistakes and leads to lower efficiency |

2. Clash of Cultures

A merger between the two firms may be unsuccessful due to clash of
cultures. Usually in this situation a firm prefers to demerge.

3. New Resources

When a firm expands it needs more capital, land and labor. This results
in the overall cost of the firm to increase, which in return increases the |
average cost.

4. pr Morale

— )

Large businesses are usually structured hierarchically where workers
might never see the top managers. This makes the w_orker feel .
. unimportant which reduges his motivation resulting in low productivity. |

5. Slow Decision - - !
Making

—_—

A large company wouldie
determine which dist
campaign, etc., befo

i ?’-!!ﬁgx
;%‘..rf&.-—" o

A gtk
=

ed to do research, create an assembly line,
chains to use, plan an advertising
Fnyethanges could be made By this time, the f

f = - tak nael

Note: These f}EDS can be reduce

approaches:

smaller competitors

] o e

have grabbed that market niche.

d-or .avoidéd if the organization adopts the following

1. MBO: Will help to keep an objective oriented approach and assist in coordination.
F} ) I

— — -

2. Decentralization: Helps to remove the workload of all the branches and give control to the
managers. This way the senior management can focus on the strategic goals.

4.1 be st f

3. Reduce Diversification: This helps- ré:ﬁﬁve wastage and improves the problems of

communication and coordination.
i < SN

. A3

—
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TOPIC 3: INVENTORY MANAGEMENT
——————
I‘URPOQE. COSTS AND BENEFITS OF INVENTORY o
i : - The term inventory or stocks refers to the raw matenal, semi-fimshe
(work-in progress) or finished goods held by a company with the basic objective of maintaiming
continuity of_operatio_n§.

—

rea LA
Advantages and Dnsndmnhgts of holdmg inv enlones |
Advantages Disadvantages
1 Quicker response time: You are able to \ 1. Opportunity Costs The v.:r\:_“
easily and quickly {ill all customer orders as tied up and cannot be used 1n other ©
soon as they come in, without having to worry | operations This could have helped the )
about waiting on your stock to come in to ship L business increase szales, spend the money on

their order out. Customers can be lost if you l R&D etc
can't ship an order quickly. a

IJ
'n u-
m
=
=
[
-
13
I
‘
(1]
-« [®
!‘
”)

hat e 2. Decreased risk of shortages: By keeping _% acc nev:de:d for stor

.. .1 "\ stock on hand, you are able to guarantee, up fdsHemeans exira costs. and singe you ane
' a certain point, that you will not run out of @2 Bde those extra costs in your prce. you
p"lrlll‘.‘ulaf item, and you h'ne less to wOormTyg end up losing 1o compen non with other
' ecause vour price 1s oo high Even!
vould soll
are morc able to mecet (or even beat) thg m ‘t_ extra costs in maintenance. and vou

competition' you will be more likely " 1ot having enough space for new

J 3. Quick replenishment: By keepingExges 3. RiskoBinsentory becoming cbsoicte The
= m\%r} you are able to work to make sure value and quality of your product decreases ine
) that vour shelvﬁlﬁﬂ?}%ﬁ: F R m\mm Youleve to make
store alwag,s 313 J% '(1. :a.-w- thev're
" new to the markel Smart 1'.""01"::'- tor example,
L U AP WP S SPRRL L o, Al are updated almost every six months, sovou
' X ) : have to sell vour stock before new versions
2 b oy d L Te3es e Man, arrive
B ] tn  teld g J i "
2. MANAGING INVENTDRY /s i i) A " - _ L
1. Buffer Inventory -~ -~ = > :

Definition; This is the minimum amount of inventory th:u a busmeas wants to hold | Just in Case of

a problem. These problems can be a delay in delivery, production rates increase The wreater the
uncertainty the greater would be the bufTer stock levels.

2. Reorder Level

Defipition; It is the level of inventory left at which a business needs 1o place an order so that new
inventories arrive before the business goes below its bufTer level

AATIK TASNEEM | AS/A-LEVEL: BUSINESS (9609) | 03041122845
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3. Lead Time

Definition; Lead time is how long it takes from ordering the supplies from the supplier 1o them
armiving at a business. Higher the time the greater the reorder stock level should be.

4. Reorder Quantity
. - * - T ‘
Definition: It is the amount ordered each time.
(

Interpretation of simple inventory control charts

A typical inventory or stock control chart is depicted in the following figure. Vertical lines
represent new deliveries whereas depletion of stocks through usage or sales is shown with the
help of sloping lines. The rate of depletion can be gauged from the gradient of the lines: the
steeper the gradient, the faster the depletion. The level of buffer inventory, reorder level, lead
time, and reorder quantity can also be seen from the diagram.

The stock control chart assists the management ia taking and analyzing numerous interrelated
d

decision such as the size of the buffer or the maxjinum stock level to be held, the size of the
batch to be ordered. A

-

60 . Maximum invanlary
] laval
50 Rt ‘”J{(K 1“64\1") &L\_ A e _}'I‘H "1!,..{__ |
L =l “'{@:r lend ,]
|
» 40 ? Lead Yime
.5 __—
g
4
20 p--ecacneaNen vy denan -. Re-order laval
10 Butler inventory level
4] 1 I ] i i | ] | T T T I ] ] | 1] ]

Time (weeks)

3. INVENTORY CONTROL METHODS
There are TWO methods to control inventory:
1. Buffer Inventory ~ 144~ pa..

2. Just in Time (JIT) t{., A G') Al by (g A Comy .1_ 5,{;_” 1Hvu\-J . SD

1. BufTer Inventory

Definition: This type of inventory control method believes in keeping reserves, The following
factors influence the level of inventory a business holds:

| Rate at which the stocks are generally used

2. Warehouse Space

3. Nature of the Product '

4. Supplier lead time
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[
2. Just in Time (JIT) o b, Py
Definition It is a Japanese inventery control system that emphasizes low stock levels It suggests
that matenals should be ordered or purcha:tt only when 1m\_ fieaded. 2 oppored i;l.i' ey o)t
buving in bulk or in excess of immediate regue szt HT 2oole o 000w hrak B e i
produce products to order Firms only produce when thev know they can sell the praduct. wan e 10,
| Advantages Disadyantage
1. It gives the firm a lot of flexibility Firms & | JIT relies on supphiers providing pantsand . 777 sy
produce what is required, when it is reqmmj'l omponents a: exactiv the nme they are Al LY
( nmmﬁ If this nvpe of flexibility and rehiability % o Pt
4 2. JIT production also reduces costs as with no  1s not available the svstem s ikely 10 breax- i T
11] 3 L.{ inventonies the firm does not have to pay for down Evenif the supplier fuls 1o deliver on B
warehousing or secunty This also helps the time the business has no butler imventon '
br g firm avoid the opportunity cost of having which might cause praduction delavs
money tied up 1n inventones

a2 Order admimistranve cost will increase
Because of several small orders need 1o be

rmore. several expensive IT

3 JIT also helps to minimize wastage If the
goods are produced and left to accumulate theyss B
are likely to get damaged, depreciate, stolen orgiesy

£ the chance to gain
B - . i Ll
348 N econonues of scale and mnereased

r
=]
44
=
]
LA
1
;—:
-
-
)
7

I funds and cash flow since inv estment i Ranon cost might lead to higher per

| working capital is reduced and the fundSSrey | SEOSEAl his will increase the per unet cost of
| not tied up hwhnich wall lead to lower profits

I | 4 Laﬁﬂi&ic to be efficient and rained r’ar

| l NTrwo Lu.'“*ul Thj\ adds up 1o the cos

| o | QH Y O.?g % st change

| % *é = B . ﬁ‘ dﬁmnmun

| h 42 A 3 i bt couming
| bcmrc :hc\ make the shift

Evaluation' JIT has its pros and cons and in order for it to be effective the company needs good

human resource. Several organizations are benefiung from JIT and 1t helps in the orgamizaton

move towards lean production however, it should be noted that it cannot be used by small firms

because of high capital costs Furthermore, the production delays and raising pnces of transpon

costs might make it ineflecuve L Wl e e N cleeun o 1

In addition to that the success of JIT depends on <.gpun. -
1) Investment in machinery OBt o W Amquemy 4 b e Uy N e vt o
1) Traimng employees Aeting = bl Ve 5 bl eenes Do
iit) Negonations with employees on contracts Lt
iv) Building relanonships with employers  (oadwpion [hessd fme DT Qv 300 (v Seesdiin g

'i"---“ ey Ny o= |- Baste  Povad) bl s
Prrdy s Mt Sbinag waaeg
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